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1 HEAR it 36 37 73] 3.6 69.4
2 ZEK A= 42 40/ 82[10.8 [71.2
3 A FE 44 44!  88/16.8 [71.2
4 S miE 46 48] 94[22.8 [71.2
5 R MEK 45 44 89[16.8 [72.2
6 Hil FilgE 37 381 75| 2.4 172.6
I &S 41 39 80| 7.2 172.8
8 ThE W 46 451 91[18.0 [73.0
9 B f&w] 37 411 78] 4.8 173.2
10 B8 fdiAst 41 40/ 81] 7.2 173.8
11 | ==+ (£= 44 37 81/ 7.2 [73.8
12 AR Eid 44 42]  86[12.0 [74.0
13 Kk B 43 431 86/12.0 174.0
14 8K ¥E 43 42 85/10.8 [74.2
15 AR il 45 39/  84] 9.6 [74.4
16|k JEA 47 43 90]15.6 |74.4
17 | B ZnBH 44 45 89/14.4 [74.6
18 [/haE fik— 43 50 93/18.0 [75.0
19 |58 = 44 43 87/12.0 [75.0
20 | R E’E% 43 441 87/12.0 175.0
21 |1k B— 43 43]  86/10.8 [75.2
22 |ZEF T 44 42 86[10.8 |75.2
PRI 46 46]  92]16.8 |75.2
24 RHEJI Th 46 46]  92/16.8 [75.2
FESIRE 45 46!  91/15.6 |75.4
26 | HFH HE— 45 46!  91/15.6 |75.4
27 A BT 43 47 90/14.4 [75.6
28 )l 1E 42 41 83[ 7.2 [75.8
29 |k K% 45 44 89[13.2 |75.8
30 |/hE R 49 46!  95/19.2 [75.8
31 Wit 48 47 95/19.2 [75.8
32 MR N 42 45! 87[10.8 176.2
33 | B NF 44 43 87[10.8 176.2
34 | BB JrAT 45 41 86/ 9.6 176.4
35 il GE 41 45 86/ 9.6 176.4
36 HEHIT E(R 52 46/ 98]21.6 |76.4
YEIEIE R 54 50 104[27.6 [76.4
38 JEA 8 48 49 97[20.4 |76.6
39 BeiE FEIG 43 46/ 89[12.0 [77.0
40 ik ERE 46 42]  88[10.8 [77.2
41 B B 43 44)  87] 9.6 [77.4
42 |HEO HHHE 48 43]  91/13.2 [77.8
43 %ot B 55 53] 108[30.0 [78.0
44 HE # 48 48!  96/18.0 [78.0
45 )1 fH 50 52]  102[24.0 [78.0
46 iEllj*J PR 49 46/  95[16.8 [78.2
47 R B R 44 44] 88| 9.6 [78.4
48 AR HEB 48 511 99/20.4 [78.6
49 [FHn dior 51 46 97 18.0 79. 0
50 |B% EERR 46 2.0 179.0
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